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UNIVERSITY OF NORTH BENGAL 

B.A. General Part-II Examination, 2022 

ECONOMICS 
PAPER-V 

MACROECONOMICS 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 

 GROUP-A / িবভাগ-ক / lewg-d 

1. Answer any five questions: 
�য-�কান পাঁচিট  pেűর উtর দাওঃ 
dquS ik¡poVk iz“ug:dks mÙkj fnuqgksl~ & 

2×5 = 10

(a) What are the components of demand for Loanable fund? 
ঋণেযাগয্ তহিবল তেtt চািহদার উপাদানgিল িক িক ? 

 _.k ;ksX; dks’kdks ?kVd Hkusdks ds gks \ 
(b) What is liquidity trap? 

তারলয্ ফাঁদ িক ? 
 rjyrkdks iklks Hkusdks ds gks \ 

(c) What is stagflation? 
িনůলতা-sীিত িক ? 

 eqnzkLQhfrtfur eUnh Hkusdks ds gks \ 
(d) What is meant by ‘Quota’? 

‘�কাটা’ বলেত িক �বাঝায় ? 
 *fu;r va“k* HkUukys ds cqf>UN \ 

(e) Mention two sources of external public debt. 
বািহয্ক সরকাির ঋেণর dিট উৎেসর উেlখ কর। 

 cká lkoZtfud _.kdks nqbZoVk lzksrg: mYys[k xuZqgksl~A 
(f) What do you mean by devaluation? 

অবমূলয্ায়ন কােক বেল ? 
 voewY;u HkUukys ds cqf>UN \ 

(g) Write two functions of Commercial Banks. 
বািণিজয্ক বয্ােìর dিট কাজ উেlখ কর । 

 O;olkf;d C;k¡ddks nqbZoVk fØ;kg: crkmuqgksl~A 
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 GROUP-B / িবভাগ-খ / lewg-[k 

 Answer any two questions
েয-েকান dিট  pেűর উtর দাও 

dquS nqbZoVk iz“ug:dks mÙkj fnuqgksl~ 

10×2 = 20

2. “Balance of Trade always balances”— Explain. 
“Balance of Trade সবর্দাই ভারসাময্ বজায় রােখ’’— উিkিটর তাৎপযর্ বয্াখয্া কর। 

10

 *O;kikjdks lUrqyu l¡?kS lUrqfyr gqUN*& O;k[;k xuZqgksl~A 
  
3. Explain the process of credit creation by the Commercial Banks. 

বািণিজয্ক বয্ােìর ঋণ সৃজন pিkয়ািট বয্াখয্া কর। 
10

 O;olkf;d C;k¡d}kjk _.k fltZuk xusZ izfØ;k O;k[;k xuZqgksl~A 
  
4. Distinguish between demand-pull and cost-push inflation. 

চািহদা বৃিdজিনত মুdাsীিত এবং বয্য় বৃিdজিনত মুdাsীিতর মেধয্ পাথর্কয্ িনণর্য় কর। 
10

 ekx izsfjr vfu ykxr izsfjr eqnzkLQhfrek> ikFkZD; xuZqgksl~A 
  
5. Give the arguments for and against protection. 

সংরkেণর পেk ও িবপেk যিুk দাও। 
10

 laj{k.kdks i{kek vfu fojks/kek vk¶uk rdZg: izLrqr xuZqgksl~A 
  

 GROUP-C / িবভাগ-গ / lewg-x 

 Answer any one question
েয-েকান একিট  pেűর উtর দাও 
dquS ,d iz“udks mÙkj fnuqgksl~ 

20×1 = 20

6.  (a) Explain Adam Smith’s absolute cost advantage theory. 

Adam Smith-এর চরম বয্য় সুিবধার তttিট বয্াখয্া কর। 

10+5+5 = 20

 ,M~e LehFkdks fujis{k ykxr fl)kUr crkmuqgksl~A 
(b) What are its limitations? 

এর সীমাবdতাgিল িক িক ? 
 ;ldk lhferrkg: ds ds Nu~ \ 

(c) Suggest some measures to remove its limitations. 
এই সীমাবdতাgিল দূর করার জনয্ িকছু psাব দাও। 

 ;ldk lhferrkg: gVkmu dsgh mik;g: lq>ko xuZqgksl~A 
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7.  (a) What is public debt? 

ঋণ সৃজন বলেত কী �বাঝ ? 

2+6+12 = 20

 lkoZtfud _.k Hkusdks ds gks \ 

(b) What are the sources of public debt? 

পাবিলক ঋেণর উৎস কী কী ? 

 lkoZtfud _.kdk lzksrg: ds ds gqu~A 

(c) Do you think that internally held public debt imposes any burden on the 
community? 

tিম িক মেন কর অভয্nরীণ পাবিলক ঋণ সmpদােয়র উপর �কান �বাঝা চািপেয় �দয় ? 

 ds rikbZykbZ ykXN fd vkUrfjd :iek jkf[k,dks lkoZtfud _.kys leqnk;ek dquS 
cks> FkksIN \ 

  

8.  (a) How is the equilibrium rate of interest determined in the liquidity preference 
theory? 

নগদ পছn তেtt িকভােব ভারসাময্ সুেদর হার িনধর্ািরত হয়, �দখাও। 

14+6 = 20

 rjyrk-fiz; fl)kUrek lUrqfyr C;kt nj dljh fu/kkZj.k xfjUN \ 

(b) What are the limitations of the theory? 

এই তেttর সীমাবdতাgিল িক িক ? 

 ;l fl)kUrdks lhferrkg: ds ds gqu~ \ 

 
——×—— 

 


